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No. of Printed Pages : 4 BTMC-132 5. Outline the principles of planning and explain the
different types of planning. 20

6. Describe the importance of staffing function in an

B.A. VOCATIONAL TOURISM organisation. Explain the process of selection of
MANAGEMENT (BAVTM) employees. 20

Term-End Examination : .
7. Define Recruitment. Explain the advantages and

June, 2024 limitations of internal and external souces of
BTMC-132 : FUNDAMENTALS OF recruitment. 20
MANAGEMENT . i o
8. Describe any two theories on Motivation. 20
Time : 3 Hours Maximum Marks - 100 9. Write short notes on the following in about 150
Note : (i) Answer any five questions in about 600 words each : 5 x4=20
words each. (ii) All questions carry equal (a) Aids to Trade.

marks. (b) Functions of the Promotor of a company.

1. Discuss the essential features and objectives of

. (c) Distinction between Memorandum and Articles
business. 20 i )
in Companies Act.

2. Describe the various forms of business organisation.
20 (d) Factors determining employee’s morale in
organisation.
3.  Why is finance important in business ? Discuss the

various methods of raising finance. 20 10. Outline the functions of managerial leadership and

4. Define Prospectus. Discuss briefly the contents of describe the various leadership styles. 20
‘Prospectus’. 20
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